5 dooon
51 0DOO0OO0OOOO

(Q,B,P)00000O0OO0
000000(Q,B,P)000000D {X,}00000 X00O0O0OOODOOO0OOOO

00 5.1 (1)(000) X,0 X0OOOO (almost surely convergence) 0 0000 P-a.a. wO0O0ODO
X,(w)—= X(w) n—00) 000000000

P(hm anX)=1

n— oo

gobgoobogboboob

P({w €Q; lim X, (w) =X(w)}) =1

n—o0

000000000X, > X as. 0000 (X, =X ae. OO0DODO)
(2)(0000) X,0 XO000O0O (convergence in probability) 00000000 e>000000
nli_)rr;oP(|Xn—X|Z€):0
oooopoOooX, - X mprob. 0000
(3)(L"-00) r>10000X,0 X0 L'-0000000
nler;oE[\Xn—X\T]:O
0000000X, —-Xm L O00O0O0r00000 (convergence in the mean of order ) 00000

00 5.2000000000000000,L-000000000000000000000000(000
0000 4(1)000000000 »=1,2000000000 (¢f. r=20000 1(1)000)0000)
000000000000 (¢f. 0000 4(2))0

00 5.3 (1) X, 0 X00ODOOOOOOOOoOooooo
(2) X, 0 X0 L-000OOO0OO0ODOOooooo

0o0: (1) X, 0 XO0OOO0oOOOO0wOOooo

[o el SlNe o}

{Jm X, =x} = U N Ans (5.1)

j=ln=1m=n
cooooooooooooo
1

0000X,—Xas. 0000000000000010000(0000 Vm,j0000 4,,;€B000
DDD{lim X,,:X}eBDDDDDDDDDDD)DDDDAmJDAm,jH (Vm,7)000000(5.1)0

n—oo

[ee) oo (o) oo
oo UJ N 4ms 2> U ﬂAm,jH)---j{lim Xn:X}IZI[IDIZIDD

n—oo
n=1m=n n=1m=n

P<G ﬁ Am,j) =1 (VjeN)

n=1m=n



o0
00000000B,;= () Am; 00000B,; C Byyiy (Vn,7) 0000
m=

n

n—oo

oo
lim P (B;) = P(|J Bus) =1
n=1
00000000B,,; C A, 0000000000YjeNOIOOOO

1
lim P (A,;) = lim P<|Xn _X|< f) —1
n—oo j

n—oo

D00000000000000Y>00000000000000000001/j<e0000
1
{|Xn—X|§3}C{|Xn—X\<a}

ooo
lim P(|X, - X|<e)=1
n—oo

0000000000000 0X,0 X000o0ooooooooooooo((2)ooooooooooooo

00 5.4 (000000 (Chebyshev) OOO0O) >0, A>000000Y000000DO0ODOOODO
ood

P(Y|>\) < %E[\Yl’“]

OO:.000o0o0o0oooon

¥l '

A AT
00000 (1,00000000014(w)=1(weA),14w)=0(w¢ A)D00D0)I0000000000

Liyizay = ( ) Lvizay <

Y1
)\r

P(Y|> X = Bllgyan] < B[] = -BIVI]. O

00 5.3(2)J00: 00O ChebyshevOOOQODOOO

1

P(\Xn—X|25)§€7E[|Xn—X|T]—>O (n — o)

gooo (|

0 5,500 53(1), (2)000000000000000O0O0OO0O0OO L™-0O0D0OO0O0O0OOODDODDODOODOO
0=[0,1], B00000 BorelDOOO, PO Lebesgue D0 O0DDOO0DODOOOOD

e [’”-0000 (DOOLODOUUOL)DODLODOLODO
ka(w):l[ﬂﬁ)(w),we[0,1],k:l,...,n,n:l,?,...DIZI[II]IZIDD

X1, Xo1, Xog, X311, X392, X33, X41, ...

00000000000000000000 X=00 L/-0000000000000000000
(000000000 3(1)0000)

e 00000 (00DO0O0ODOD)O0DL-000000
Xp(w) =nlg1y(w),w€(0,] 000000000 X=000000000L-000000(000
000000 3(2)0000)



OO0 5.6 X,0 XOOOOOOOOOOOOOOOO0O0O0000000000000000004g.L7-00a0
00 (00000000)0000000D00000D0O00O00oO0OoD

00 5.7 (Borel-CantelliDO0O) {B,} CBO00000O0O0OO
(1) 352 P(Bn) <00 = P(N;ZUpZ, Br) =0
(2) {B,}0000 >0, P(By) =00 = PN, Uiz, Be) = 1.

00: N2, U, Bk C U, Br (Yn) 0O O

0<P(() U Bx) < P(| Br) <D _ P(By).
n=1k=n k=n k=n

0000 52, P(By) <ooOO >3, PBr) = 0(n—o0). 0000P(N—, Ui, Be)=00000
(2) (ML Unl, Br)* = Unli M2, B O {Mi2, Bi} 0 n000000000000{N., B{}0 NO
00000000 N2, BS=Nx_, N, BsO0O0O0O

n—00 N—o00

oo 00 00 N
JwﬂUBwpﬁﬁﬂﬂmpmmmmmﬂm) (5.2)
n=1k=n k=n k=n
00000000 1.7(2)000 BS,...,B,0000000000P(B)=1-P(B)<e PBIoooo

o*ogoooo
N

N N
ng(m B]g): H Bk < H _P(Bk):e_ZkN=nP(Bk).
k=n k=n k=n
0000y 2, P(By) =00o0000(00)=0(N—o00). 00000((B.2)00 P(Nh~;Uie,, Br))=0
ooooooooooo O
0056000: 0ke NOODOODOX,0 XO0OOOO0OO0OOOe=44 000000 N,OO0OO
1 1
n>N, = PQXﬁ—X@3%>g§?
00000000000000n; <ng<---<ng<---0000 (ng =Ny, ng =max{Ng,np_1+ 1},
1 1
kEQDDDMPO&%fXﬁz—)S—DDDDD
ok ) = ok
1

[M]&%DXDDDDDDDDDDDDC@:“XM—XWE%

}ooooo
o0 oo 1

D PC) <Y p=1<o

k=1 k=1

000000 Borek-Cantelli 000 (1) 0000 P((, U3, Gk ) =0. 0000

oo oo oo oo

c c 1
wG( Uc@ = JNGe00003 € N such that ¥k 21000 [ X, (@) - X(@)] < 5
=1 k=l =1 k=1
oooo kILH;oX""‘(w) = X(w)

ooooooooX,, 0 Xo00O0oooooooooooooo 0

1 0<z<10000<1—z<e*00000



52 O0OOOOO

n
0000 (Q,B,P)0000O0OO {X,}000000000 S,/n=> X,/n000000000000
1=1

00 5.8 0000 {¢,} 0000
(1) Sp/n—c, 0 00000000000000000 (weak law of large numbers) 0000000
(2) Sp/n—¢,00000000000000000O (strong law of large numbers) 000000000

00 5.9 X;,X,,...000000000000004,5 (1#5)00000 X;0 X;00000

sup V(X,) < o0

000000 {¢,} 0000 Sy/n—¢, 000 L200000000000000000000ODO0OO
V(X)=E[(X -FEX))?)0X0000000O

00: L-0000000000000000000000 5.3DDDDDmn:E[Xn]DDDcn:%Z?Zlmj
googo

EK%?—%YL=%EHZX&—mQF%§z:Em&—mgu;_mm
%ZE[(XJ' —m;)’] < %SupV(Xj) —0 (n— o)

o000 l20000000000000002000 IDDDDi#jDDD X; O XjDDDDDDDD
Bl(X; —mi)(X; —my)] = E[X; — mi] E[X; —my] = (B[Xi] — mi)(E[X;] —m;) =0

goo0Oooooooo O

0 5.10 (0000) 0000O00000000000000 X1,Xs,... n0000n—10000000

XnDDDD)DDDDDDDDDDDDDDD nO00O0000000 YnznylejDDDDDYnDDDD

0000000000000 0D00O00000 X3,X,,...000 (ab) (0<a<l<bd OOODOO iid.
0000((id.0000000000 independently, identically distributed D00) Y, 00000000

logV, = Zlong

j=1
O log X;,log Xo,...0 1.idO0O0 (DDDDDDDDDD)DDDDDD 5900 Ve >00000
1
P(‘flogYnfllge)%l, 000 I = Ellog X4]
n

ajalafsls
P(megyggwﬂm)%l (5.3)

O000e>000000000000000000000000000000 000D
jooodo Yy, 00oodoooodooa
ElY,] = E[X1]---E[X,] =m", 000 m=E[X]]

O00000000000000000000mODO0O00D000000000 0000000000 (5.3)
coooooooo



0000P(X; =13)=3/5, P(X;=06)=2/5000000000

3

3 2 2
I =EllogX,] = Zlog L3+ -log0.6 = —0.0469- -, m=E[X)] = 213+ 0.6 = 1.02

OD00e <1l<m. O0O0D0DOODO m>100000000000000000000O(G.3)0000000
gooboooooooo

gooboobooboooUoobobOobDobOobOUoboU0obO0obOobODobDOooUoobOUobUobOobDOoo b60
gboboooooooooobooboo

00 5.11 (Bernstein 00000000) f(#)0[0,1]0000000000000000000

R VLA YA WP Au——
f(p) §f<”>(k>p (1-p)

OOoOoQ0OQOO0OD 200 p0On0OD00O0000O0O0O0O0ODOO0OO BernsteimOOOODOOOOOOOOO

=0 (5.4)

lim max
n—oo 0<p<1

00: 0<p<100000000000X;,Xo,...01id 0000 P(X,=1)=p, P(X,=0)=1-p
DDDDDDDDDDDDDSn:ZZZIXkDDDDDSnDDDDDB(n,p)DDDDDD

(5] =S 1 (E)pesa =0 = S (5) (M)ora - (5.5)
n = \n = \n k

O00Ve>000000ChebyshevOOOOQOOO

Sh, 1

P( Zn p‘ > 5) = P(ISn = np| 2 n6) < 5 B - np|2] = e (50)
oD L)+

DO0O0O0V(S,) 0 8, 000000 np(1-p)00000000000000]|flle = supepqlf(@)],
up(0) = sup |f(x)— f(y)|00ODO0O

|lz—y|<é
100~ £l (32))| = [Blro) - 7 (301 < 1l - 1(32)]
= 00]10) = £(5) 3 osy) + 2700 = 1 (52) 15 i)
A2 )rarr( o <)<

0000 f(z)0 [0,]]0000000000000000limus(§)=0. 0000000 Ve>000000
—
06>000000us(d)<e/2.00n0n>|fll/(e6*) 00000

’f(p)—E[f(ij)]‘ <%+§=5.

O00nD0pO0000DOO0ODODO (55)00000DO(G4) 000000 U

000000000000 00000000000 Lebesgue 00000000000 ODOOOOOOOTII
000000000000*0(00000LII0000000000000000)

20000 LebesgueDDDDDDDDDE[X]:/X(w)dP(w)DEIDDEIDDDEIDD
Q

5



00 5.12(000000) DO0ODDOOOO0OOO {X,}000000<X;<Xy<---<X,<---00D0
gobooooogo

lim E[X,] = E[(lim X,)].

n—oo n—oo

00 5.13 (Lebesgue 00000) 00000 {X,}0 XO00OOO0OOO0O0O0O0000YODOOO
(E[Y]<o00)0000000000neNOOOD |X,|<YOOOOODOOODOOODOO

lim E[X,] = E[X].

n— oo

00 5.14 (FubiniOOO) (R, %, ), i=1,2, 0000 ¢-0000000000000 f(z,y) 000
DDDDDDDDDDDDDD*3DDf(x,y)ZODDIZI/ |f(z,9)]d(p1 @ p2)(z,y) <coDDODODODODO

R1 ><R2

ooooooo

[ sendmemen = [ ([ fenane )= [ ([ 0o )dne.

00 5.15 X;,X,,...00000000b,>0,b, »00 (n—00)00000n—0co0000

ZP(|AX]€|>bn)—)O7 (b b ZZEXk 1{|Xk\<bn}] —0
_ n p—q
DDDDDDDDDSH:ZXk,an:ZE[Xklﬂxugbn}]DDDDD@D 000000000
k=1 k=1 n

00: S, =Yr_; Xelgx,<p,y 00000Ve>000000

P( S"l;a" >s) §P(Sn7é§n)+P<‘Snl;a" >€>.
agood
P(S, # S) SP(U { Xk #Xk1{|xk\gbn}}> > P(IXk|>b,) =0,  ((a)000).
k=1 k=1

O000a, = E[S,] 000000 Chebyshey 0000000

Sn — Qp 1 5‘n — an |2 1 -
P(‘ M 5) = ?E[’ b | = g V) = zb% kZlV Xrl{1x<bn})
< 2b2 ZE Xilgx,<e,y] =0, ((b)0DOD).

" k=1
00000000000 V(Y)=E[Y?)—(EY])?<E[Y?)D (X14)*=X%1,0000000000 O
00 5.16 Xi,Xs,...0 diid OO

P(| X1 >2)—0 (x — o0) (5.6)

n S
0000000008, =Y Xk, en = E[X11{x,1<y) 00000— —¢,0 000000000
k=1 - n

*3 DOO0R,=RO e 000 Borel 000000000 f(x,y) 0 VyOOODOD 20000 24-000 VeOODOOO y
000000000000 f(r,y) 0000000000000 (¢f. 0000: 00000000 (1963), pp.68-69)0



Sn,

00 5.17 00 51600000——-¢,0 000000000 ¢, 0000000000O0O0O0DOOO0O (cf.
n

Feller, W.: An Introduction to Probability Theory and Its Applications, vol.IT, (1971) pp.234—6)0

O00: X;,X,,...01id. 000000 5.150 @, 0000 a, =nc, D0000000000000000
515000 (a), (b)0 b, =n0000000000 (a) 0

> P(|Xk| > n) =nP(|X1| > n)
k=1

000 (5.6)000000()00000000000000

00 5.18 YEO,p>O[IDDDDE[Yp]:/ pyP L P(Y > y)dy.
0

Oo0e:

(DD)=/Ompyp‘l(/g1<y,oo>(Y(w))dP(w))dy=/Q(/Ompy”‘ll(oo,y<w))(y) dy)dP(w)

—/§2</0Y(w)py”1dy)dP(w)—/QY(w)de(w)_(DD)’

00000 200000000py"  (ye0)(Y (@) = 2y 1o y(wy(y) > 000000 Fubuni 0000
oooo O

00 5.16000000: Y, =|Xi|l{x, <y D0000Y,>00000 51800

E[Y?] = / 2yP(Y, >y)dy :/ 2yP(Y, >y)dy.
0 0

0000020000 P(Y,>n)=000 P(Y,>y)=0(y>n)00000000000000

1 & 1 1
= > B x02m]) = S EIXTlx, <ny] = — B[]
k=1

1 /M 1 /M
R S A L AL
0 0

n

1 n
00000000 ¢ 000000000000000 lim ¢(z)=0000000 lim 7/ o(z)dz =0
xTr—r00 O

n—oo N

000 (¢f. 0000 6(3))000(5.6) 0000 515000 (b)00O0D0O0D00O0D00O0 O

n Sn
00 5.19 X, Xo,...0 iid 0 E[|X]]<cc00000S,= > X3, m=E[X;]00000-20 m0O
k=1 n

gooboooo

O0: ElXi]]<ocoD0 [Xi|<ocas 000000z —o00000 |[Xq|lfx,52y »0as. 000000
00| X1|1gx, 503 < X1/ 00 E[|X1]] <ocoO O Lebesgue 0000000

rP(|X1]| > 2) = 2E[1{x,|>2}] < E[|X1[1{x,52}] = E[0] =0,  x — oo.
000|X11{x, <0} < [X1] 00 E[|X1]] <0000 Lebesgue 0000000
E[X11{x,<z}] = E[X1] = m, r — 00
000000 51600000000 O

oooOooooo0oos, 00000000000 5.15000000000000000



0 5.20(000000000000000000) X1,X,,...01id 0 P(X; =29) =1/2¢i=1,2,...,
OD00000O000D00D0E[X;]=0000008,=),.,X,00000Ve>000000000000

u

00 X, 00000000000 000000000:000000000000 20000000000
0000000000000 0DO00D00000D0O0O000O00D0O0E[X,]=cc0000000O00D0O
O000000000000000000000002000000000000022 =268,435,456 00
200000COOOOOOOOOOCOOOOOO 13000 100000000O0O0OO0OOOOOOOO
0000000000000 000 (O RO0D0DO0DOD0O00ORODOOODDO nlog,nOODODODOOODO
00000000000 2200000000000000 2800000

S,
n —1’§5)—>1, n - 0. (5.7)
nlogy n

O00: b, =nlogon 00 ¢, = |logyb,] 000 (e 0 «0000000D0)000000
logy by, — 1 < ¢, <logy b, 00O 271h, < 2¢» <b,, 00 2 < b, < 2nT1

goboobodbibDn—-o0cbO0O0OO

o0

(a) zn:P(lX | > b,) = nP(X; > 201 $ L_ e n_ m 2 _,
a n) =T el " =N —_=n— = — _ = - ,
k=1 ' ' o1 2 1-1/2  2e» " 271h,  logyn

1 < n N, ol 2(200 — 1)
b) 5> B xon] = 5 B ] = 55 ) 2 5 = 5o

nok=1
2n2¢n 2nb,, 2
< < = — 0.
B bn2 B bn2 loggn
n Sn* mn
000000 51500 a, = ZE[Xklﬂxk‘Sbn}]DDDDDTaD 0000000000000
k=1 n
(&
an n n~_1 nc, |logy(nlogsn)|] |logyn + log,log,n]
by bn XiLgxai<on] by ; 2 by log, 1 log, n
gboboooooogoogo
log, 1
lim logyn = oo oo lim —82 %8270 _
n—00 n—00 ]0g2n

000000000o0oooOooooD (b.7)OoooOo (]

00 5.21 (1) 00O 5.15,5.16, 0 5.2000X,,X»,... 00 000000000000 O0O00OO0OOOOOOO
(2) 00 51600000 (X;,Xs,...01id.000)0m ¢ [a,b] 00 P(agizzle;@Sb)D ooonO
[I[IIZI[IIZIIZIE[etXl]<oo(VtGR)[I[IIZIEJDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000 Cramér 000000000 DOOOOO (large deviation principle) 0000000000000
000000 (¢f. DODO0DODOODODOODOOODOO 10)0

53 0OOO0OO0O0O
00 5.22 (KolmogorovOODOO) X;,X,,... 00000000000VeD000 E[X,] =000
V(X,)<ocoOOOOOOD000D000a>00000

1 n
P(m S ) <2V

k

>oX

goobogo



DD:Sk:Z?ZlXjDDDDDDDDDDD
A*:{wGQ; max |Sk|2a}
1<k<n
000O0S, 00000000000 |S¢|0000000 «000D0O0D0OD0ODDODO KkODODODO A*0DO
0000000000000 O0OUO0kE=1,2,...,n0000
={weN;j=1,2,...,k—100000 |5 <aD000 |S¢ >a} (5.8)
D00D00A*=Jr_,A; (00D000)0000000000
n n n 1
P(A*) =Y P(A;) =) E[la] gZ;ESkJAE]

k=1 k=1 k=1

go0oOoooooooo wEAZDDD Sk(w)22a2DDDDDDDDDDDDDD
S2 = (Sk + (Sy — Sk))? = S§ +28k(Sn — Sk) + (Sn — Sk)? > Si + 25,(S, — Sk)

oooooon
E[S? - 1a:] — BIS; - 1a;] > 2E[Sk(Sn — Sk) - 1a;]

ooooGs)0ooo 45D Xq,---,X,0000000000000DDO S — S =>"

e X; 0000
{X,} 000000 Sk-14:0 8, — 5 0000000000000

n

E[Sk(Sn — Sk) - Laz] = E[Sk - 1a:]E[Sy — Sk] = E[Sk - 1a;] Y E[X,] =0.

ooooao

ooooooooo xy,..., X, 0000000000000 O

00 5.23 (KolmogorovO O 100) X;,X,,... 00000000000
oo
1
il 5.9

000000000000000000000 = ZX - E[X;))0 00000000
]1
00:Yoe NODOD E[X,]=000000000000X, -E[X,]0 X,00000000Y, =
1
+Yr X;=55,000000000
Ist step Ve >000000

= U Nival<e

N=1n=N

oooo

P(A(e)) =1 (5.10)



D00000000000000000000A4=,4(1//)00000(.10)000 j=1,2,...000
0 P(A(1/§))=10000P(A)=1. 0000we ADOODOODD je NOODD we A(1/§)000
N =N )00000 n>NOOO |Yaw)|<1/j0000000000weADDD lim Yow) =0
goboobobooboo

2nd step (5.10) 000000000

o= U (nlze={, o mize}

g1 m,—lgn<2m
n= -

O00oooooovieNOOOO

A’ =) UMl =t c | Bulo) (5.11)
N=1n=N m=l
0000(5.10),0000 P(A(e))=00000000
i P(Bp(¢)) < 00 (5.12)

O000000000Borel-Canteli D00 (1) 000 P(n;ﬁl U, Bm(e)) =000000(.11)00
A c N2, U Bn(e)00O0DODODO
3rd step (5.12) 0000008, =37, X;(=nY,) 0000

1
P 0) = P( e 2152 e) < () e 522

oam-1<fcom gm-1<f<om

om
1

m—1

< P(1<Hkli}2(m |Sk‘ >e2 > < W kz:l V(Xk)

0001000000002 ' <k000000000 KolmogorovODOODO (00O 5.9 0000000
gooo

> P(Bn(e)) < = > o 2 V(X)) =5 > 3o > Lo (B)V(Xk)
m=1 m=1 k=1 m=1 k=1
4 & > o 1 4 & =1 16 1
:?ZV(Xk)Zl[koo)(Q )%_gzv(Xk) > %S?ZV(XQ@
k=1 m=1 k=1 m=my k=1

000 mpe NO2™ l<k<2m O0000000020000000

22m 1 —1/4  3(2mk)2

ii_uzmk 4 1 4
3

IN

1
k2

m=my,

0000D000000000000 (5.9)00 (5.12) 000000 O
{X,}000000000000 523000 (5.9)000 E[X2 <cc000D000D0

00 5.24 (KolmogorovOO 200) X;,Xs,...0 w.i.d ODE[X,]]<oo0000000O0O0DOOOO

1TL
DO000000000-Y X;0 E[X;)0000000
n
j=1
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00:VYene NOODOD E[X,]=000000000X0 X,00000000000000000000
000 Fx0OOOO

Iststep (00 k00000 cutof 000) Zg = Xiliou (| Xk]) — i, 1, = E[Xy Lo (| X)) 000D O
{Z,)0005.2300000000000{%,}0000000

© ~ |
> V(@) = Y S EXLeu(XD) =) < 5B X))
k=1 k=1 k=1
o 1 k o0 > 1
=D 3 2 B (1XD) = D BIX* 160, (IXD] Y 5
k=1" j=1 J=1 k=i

1

oo 1 oo
< BIXCLoa(IXD1 ) 5 + D BIX L1 (X N)=—
k=1 j=2

§2%+22E[|X|1(j1 (1X))] Zki +2E[|X]] <

40000000000 j>20005j—-1<|z/<jO000O

1
J—1 J—

0000000000000 0D0O0E[Zy)=000000 52300

J
< <2
 <lelL <20l

S R
nl;rréOE;Zk:O a.s.

gooooo
2nd step [ X1 (X)| < [X| (Vke N)O E[[X]] <ooOOODLebesgue 10000000
g, = E[X1ox(X])] = E[X] =0 (k— o)

00000000000 lim 230 /mp=0000 (¢f. 00DOO 6(1))0 Ist step 000
n—oo

n—,oo M

X 1 <&
lim ~ > Xplow(Xe) =0 as.
k=1

3rd step P(#{k € N;|X;| >k} <o0)=1000000000000aa wO0O0O0O0O00 AO00OOO
Xi, = Xplox(|Xe)0DOO0 2ndstep 0000000000 0D00000

oo

[e’e] J
> P(IX| > k) = ZZP]<|X|<3+1=ZZP]<|X|<3+1)
k=1

k=1 j=k j=1k=1

—

oo

= jPG<IX|<j+1)=E> jlgy(X]) } < E[|X]] < >

j=1 =1

0D000000000200000000000 Y20, i1, 4n(lz)) € 252, |2/l (2)) = [z 0000
O000000000Borel-CantelliOO 0O (1) 00 #{k;|Xk| >k} <ocas. 00000 O
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00 5.25 (1) X1, Xs,... 01id 0 E[X})<0o00000000000000000000000O00O0
0 (0000 11)0

(2) 00 5240 X1,X.,... 0000000000000 0D0000000000OO(¢f. 00000000
[D] pp.73-75.) 00000 Kolmogorov 0000000000000 0000O0O0OOOOOONOOOOOO
0000000

00 5.26 X1,X,,... 0 iid 0 E[|X)|]=cc000000

1 n
P {limsup| - 3" Xi| =00 | = 1. 5.13
<1msup ”kZ:l k oo) (5.13)

n— oo

00: X0 X,0000000000000000
Iststep M >0000BM ={|X,|>Mn}00000

iP(Bff) - ip(pq > Mn) = i i P(Mk < |X| < M(k +1))
n=0 n=0 n=0 k=n
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